AGND

Ao AGND
AGND
FREQ
=—cu3 cu R106 clo4 2102
e = 00nF  100nF
100nF AbD. s
AGND
o E
AGND vss @ ~ & | vl AGND
AD990IKP
@ @
g 2 2 B B
@ & ca
100nF
FREQL vs |18 C106
2101 clol  R103 100nF
470F
I/ AGND}—H»—« VSs
\ NC 17 AGND
D101
GND ‘416 AGND
1 | s
c103 Bc
100nF R116
100
14
AGND fout AGND
o R119
@
g g 2 > % B8
E 9 o N @
S = 9 9
Al ND}—“»—«—
AGND  cus | R117
1000F  VSS 100
cl16
100nF
AGNDH vee
R122
VSs 47K
101
AGND 22uF
- }—1AGND
= cur
10nF R120 ci21
25K 100nF
+VS Z )»—MGND
== cus
100nF
ouT PHASE
c119
10nF e
AGND E102 AGND
220F
AGND}—"{]
Vvss
Title
Sze Number Revision
A3
10-Apr-2007 Sheet_of
DATIMENUTSDAVEBWPHASDETL.S0]. Drann By:
3 5 6 7 8




